Total No. of Questions : 5] SEAT No. :

P3396 [Total No. of Pages : 4
[5104]Ext. - 11

M.A. (Part - I)
ECONOMICS (Annual)
Micro Economic Analysis-I1 and Micro Economic Analysis-I1

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.
4) Draw diagrams wherever necessary.

Q1) What is indifference curve? Explain the income, substitution and price effects
with the help of Indifference curve. [20]
OR

What is consumer surplus? How consumer surplus is measured with the help
of Indifference curve?

02) Give the meaning of Average, marginal and total revenue. Illustrate these
concept with the help of suitable diagrams and numerical examples. [20]

OR

Explain full the law of variable proportions.

03) What is perfect conpetition? Explain equilibrium of the firm and industry
under perfect competition. [20]

OR

Explain in detail Baumol's sales revenue maximization model of the firm.

Q4) What is monopolistic competition? Explain equilibrium of the firm and group
under monopolistic competition. [20]

OR

Explain price and output determination under monopoly. How monopoly is
regulated?

PTO.



05) Write short notes on (any four) [20]
a) Role of price mechanism.
b) Cross elasticity of demand.
c) Isoquant curve.
d) Selling cost
e) Conditions of pareto optimality.

f)  Eulars theorem.

R R

[5104] Ext. - 11 2



Total No. of Questions : 5]

P3396
[S104]Ext. - 11
M.A. (Part - I)
ECONOMICS (Annual)
Micro Economic Analysis-I and Micro Economic Analysis-I1
(2013 Pattern)
(vt wUTaR)
de: 3 a1 ] [ Tgpor ToT ;100
geAr - 1) @F g97 @isal.
2) S9AIHSIT 3 qul quT FIfATA.
3) I AWH T gRyg I@rEia.
4) SITFYIE 79 GAF HTHT FHIET.
5) @quiaist ges 51 T GEHHT TET.

Ty 1) AUGATEsh TEUTS hId ? ARG SgRTeAT AT Icuw, Taiaar ATt fohea wioms

TIY T [20]
feRan

IATFATE TATITIET TEUR Shid ? SUNTFTe SATITIeer &l Al WTd o

AuashTeaT HgrEa favg .

g7 2) e aret, erara uret enfor wepur wret T st @AM AR TRt 9 WiEATR
ISTUT=AT T AT HeheudT Y . [20]

ferent
T THTOTET faw afeeay Uy .

797 3) Ui TaLT TEUS 1A ? SATHEGEEAT T STFTTAT YT T et quaret T8 &, [20)]
feman
ATSHA I HgedA Tershiaret gfea afeeay Tug =,



797 4) AcheRgeR TAT TEUNS Shidl ? STNTHET T THHETET AehgRIgad Tasdiel auare

T8 . [20]
fepent
HeFdaRId el TohAd ATIUT Ieured A==l Tasiertur . Aerer= = &8 oot
AT ?
Ty 5) odrgeara ar fergt (iomgt e m) [20]

ar) Tehma F=oren syftre
¥) WU B9 Aateehdl
&) WHIUTEA T3k

) fasfie=

3) WEreAn gatHa=AT et

W) g™ THE

B E R

[5104] Ext. - 11 4



Total No. of Questions : 5] SEAT No. :

P3397 [Total No. of Pages : 4
[5104] Ext. - 12

M.A. (Part - 1) (Annual)
ECONOMICS
Public Economics I and Public Economics - 11

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Answer should be precised and to the point.

Q1) Explain the role of Government in organized society. [20]
OR

Explain in detail Voluntary Exchange model.

02) Explain in detail the wagner's Law of Increasing state Activities. [20]
OR

Explain in detail Alternative concepts of Incidence of tax.

03) Describe the methods of repayment of public debt. [20]
OR

Explain interdependence of monetary and fiscal policy.

04) State the difference between finance commission and planning commission.
[20]

OR

Evaluate the direct and Indirect tax reforms in India.

PTO.



05) Write short notes on (any four)

a)
b)
c)
d)
e)
)

Public Goods

Project Evaluation

Excess Burden of Taxes
Classical view of public debt.
Principles of Federal finance

Taxation of Agriculture

R R

[5104] Ext. - 12 2
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Total No. of Questions : 5]

P3397
[5104] Ext. - 12
M.A. (Part - 1) (Annual)
ECONOMICS
Public Economics I and Public Economics - 11
(2013 Pattern)
(vt wUTaR)
de: 3 ara ] [Tzor 7oT: 100
e :- 1) @F T97 AISIA0 HTa99% ST
2) S9AIHSIT 3 qul quT FIfATA.
3) IW Wl T gege Haad.
4) @euIaTS! qes ST T9T GAHT TgTe.

97 1) 9adia QAT TRl qHehT TIE . [20]
Teram
west fafima gfoam afeem wa= w0,

gy 2) S it TSATT A areren o wfawar favrg 0. [20]
T

FURTET ey geweuat afaear wy =,

g7 3) WIENeh sl U theedl usadiel quid . [20]
TeRan
HIgih SRUT 9 fawita €RuT amHeie uEuiae e T8 .

g7 4) T e a fEem FEnT Ao wen |, [20]
e
HRATAA TR T ATIETR GURUTTS HoaHTa .



797 5) S forgn (Svored = m) [20]
H) WENHE a6
) Uehed HeIATIA
%) e aAfadied WR
g) WEWH® HAET T GEIGROT
3) wfuy fommh dc
) Ft w vt

® R R
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Total No. of Questions : 5] SEAT No. :

P3398 [Total No. of Pages : 4
[5104] Ext. - 13

M.A. (Part - I) (Annual Pattern)
ECONOMICS
EC. 1003 - International Trade and International Finance

Time : 3 Hours] [Max. Marks : 100
Instructions:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answer should be precise of and to the point.

4) Neat diagrams must be drawn wherever necessary.

Q1) Explain critically the Hecksher - Ohlin theory of International trade. [20]
OR

Explain leontiefs parodox and Intra Industry trade of International trade.

02) What are the terms of trade? Analyse the factors which determine the terms of
trade of country. [20]

OR

Explain the changes in composition of global trade.

03) Whatis fixed exchange rate? Discuss the merits and demerits of fixed exchange
rate. [20]

OR

What are the causes of deficit in India's balance of payments? Discuss the
measures adopted by the Government to correct the deficit in India's balance
of payments.

04) What is Euro-currency market? Explain the various reasons for the growth of
Euro currency market. [20]

OR

Explain the role and importance of foreign capital in international trade.

PTO.



05) Write notes on any four of the following.

a)
b)
c)
d)
e)
f)

New trade theory.
Types of terms of trade.

GATT.

Devaluation of Indian Rupee.

Foreign Direct Investment flows in India.

World Bank.

& & &

[5104] Ext. - 13 2
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Total No. of Questions : 5]

P3398
[5104] Ext. - 13
M.A. (Part - I) (Annual Pattern)
ECONOMICS
EC. 1003 - International Trade and International Finance

(WTET FUTR)
da: 3 ara | [T 7Or: 100
gaqar ;- 1) @F g9 gigar.
2) IwaiHSIeT 3k Qul T FVIAATA.
3) I AWHI T YRHG AG@EIT HTAVIH 79 A HATHET HIGT.
4) TGYlars? g A1 GT- ST TgTEl.

g7 1) TFR - 3Ela e Aarea Saariayaes Regia T &, [20]
e
ATAWHE ATIRAA TAa-eiwar TR ™ 9 et ITRT SAUR TeheddT T
.

97 2) SATIRIA T 1 ? o |EA NIl SHTIRITA IR TRUMH o= geehTal
fergeraon = [20]
feran
TARTIreh SATART=AT [T Sget TIE .

o7 3) Teer fafima & g & ? TR fafima goean qui-gre ==t &, [20]
Teram

HRATSAT STAERATATATA qeleit ShRUI ShIUTdl 7 HRATeAT STAgRATAATA e q¢ &
FOATATS! AR AlAedT IUTAT <= ol

797 4) U TTeR It Y ¥R, JU-STeR SR areret ot favg wa. [20]
TeRan

3



g7 5) St Togt (SRivTamdt Iner) [20]
) T =R fasE

¥) TAUR I ThR

%) T

¥) R FUET A

3) WRATRIS UGhIA Taer aauphen Tamg
W) NIl s

& & &

[5104] Ext. - 13 4



Total No. of Questions : 5]

P3399

SEAT No. :
[Total No. of Pages : 3

[5104] Ext.- 14
M.A. (Part - I)
ECONOMICS

Mathematical Economics and Statistical Techniques

(Annual Pattern)

Time :3 hours] [Max. Marks :100
Instructions to the candidates:

1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answers should be precies and to the point.
4) Draw neat diagrams wherever necessary.
5) Use of non-scientific calculator is allowed.
Q1) Solve any one of the following. [20]
a) 1) A firm'saverage production costs (AC) are given by the expression
AC =450q" + 0.2q'~.
i) A firm has to pay fixed costs of Rs. 200 and then Rs.16 labour plus
Rs.5 raw material for each unit produced of good x. Write an
expression for average cost and simplify.
b) Calculate the point elasticity of demand for the demand schedule P = 60
—0.2Q where price is (i) zero, (ii) Rs.20 (iii) Rs.40 and (iv) Rs.60
02) Solve any one of the following. [20]
a) Use inverses to solve system of equations.
X=X, tx,=1
2x, —x, =1
2x, +3x, =1
b) IF a firm faces the marginal cost schedule MC = 180 + 0.3g* and the
marginal revenue schedule is MR = 540 — 0 .6¢* and total fixed costs
are Rs. 65 what is the maximum profit it can make?
03) Solve any one of the following. [20]
a)  Draw multiple bar diagram for the following data and answer the following

questions. (Rs. In thousands)

PTO.



Year Sales Gross Profit | Net Profit
1995 100 30 10
1996 120 40 15
1997 130 45 25
1998 150 50 25

i)  Which year has maximum net profit?

i) In 1997 what is the % of increase in gross profit as compared with
1995?

i) Obtain the average net profit.
iv)  Which year shows the lowest sale?
v)  Which year has maximum difference between gross and net profit?

b) Inthe following grouped data 'x' are the mid points of the class intervals
and 'c' is a constant. [f the arithmetic mean of the original distribution is
35.84, find its class intervals.

X-C 21 -14 710 7 | 14 21 total
Frequency| 2 12 19 129 |20 | 13 5 100

04) Solve any one of the following.

a) From the prices of shares of X and Y below find out which is more

stable in value : [20]
X Y
35 108
54 107
52 105
53 105
56 106
58 107
52 104
50 103
51 104
49 101

[5104]-Ext. - 14 2



b)

The arithmetic mean and the S.D. of a set of 9 items are 43 and 5
respectively. If an item of value 63. is added to the, set find the mean and
S.D. of 10" item.

05) Solve any four of the following. [20]

d)

Derive the determinant of matrix A =

— N

5
3
7

B~ W O

Solve the simultaneous equation system 20 x + 6y = 500
10 x — 2y =200

A competitive market has demand schedule p=610—3q and the supply
schedule p =20 +2q.Calculate equilibrium price and quantity.

Prepare a frequency table for the following data with width of each class
interval as 10.Use exclusive method of classification

57 4 80 75 00 18 45 14 04 64 72 35l
69 34 22 8 70 20 57 28 96 56 50 47

10 34 61 66 8 46 22 10 8 50 47 73
42 33 48 65 10 34 66 53 75 90 58 46
39 69

The distribution of age at first marriage of 130 males was as given
below;Calculate the average age.

Age(x) 18 19 20 21 22 23 24 25 26 27 28 29
No.(f) 02 01 04 08 10 12 17 19 18 14 13 12

Write the merits and demerits of mode.

R R

[5104]-Ext. - 14 3



Total No. of Questions : 5] SEAT No. :

P3400 [Total No. of Pages : 4
[5104] Ext. - 15

M.A. (Part - I) (Annual Pattern)
ECONOMICS
Agricultural Economics and Industrial Economics

Time : 3 Hours] [Max. Marks : 100
Instructions to the Candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

Q1) Describe the role of Agriculture in Indian Economy. [20]
OR

Critically evaluate the National Employment guarantee scheme.

02) Explain the structure of Co-Operative credit in India. [20]
OR

Explain the problems of Agricultural Export and Import.

03) Explain the scope and significance of the study of Industrial Economics.[20]
OR

Explain the Sargent Florence's Theory of industrial Location.
04) Explain the factors affecting industrial productivity and capacity utilization.[20]

OR

Explain the meaning scope and importance of industrial finance.

PTO.



05) Write short notes on (any four) [20]
a) Organic farming
b) Scope of Agricultural Management
c) Food security situation in India
d) Foreign direct Investment

e) Problems of small scale Industries

f)  Role of MNC'S in India

R R

[5104] Ext. - 15 2



Total No. of Questions : 5]

P3400
[5104] Ext. - 15
ML.A. (Part - I) (Annual Pattern)
ECONOMICS
Agricultural Economics and Industrial Economics
(TSt FaiaR)
dz: 3 ara] [ TgEor O : 100

gaar - 1) @d v @iEa.
2) IwEIEwSIT 3 gl T FIEATa.
3) IW AWH T gPgT HATAI.
4) dYlaIs! g@ U TeTalAHT TETa,

gy 1) AT steferawaa et it favre w0, [20]
TeRan
TEE TR gt A Forehicdss geammas &4,

97 2) ARATATA Hgeh Nl UauiasTel ET TUE . [20]
TRt
AT T i eaT e T8 .
97 3) SAtenfires AT AITAT SATHT SATIUT Hged TAT . [20]
fepent

TR+ FANE I ATAreh T vaden faseia g =a.

g7 4) AR Ieargehdl SATUT IeATEALIHAT TIRTeR URUTTH Uk ek arm.  [20)]
feRan
Srenfirer fammen arel, =Tt TfUT AEe TUE .



Ty 5) sdvewama At forgt (HoreErd = w) [20]
aT)  wHgrEwrdt
F) It STEEATIATE SITHY
%) WRATATE STERere aRfeerdt
T) foelt o gaauh
3) TS e
W) TEOEE HgmSeel WRATde qiHet

® R R

[5104] Ext. - 15 4



Total No. of Questions : 5] SEAT No. :

P3401 [Total No. of Pages : 4
[5104] Ext. - 16

M.A. (Part - I) (Annual Pattern)
ECONOMICS
Indian Economic Policy and Labour Economics

Time : 3 Hours] [Max. Marks : 100

Instructions:
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precise and to be point.

Q1) Explain the central and state governments policy of unemployment. [20]
OR

Explain the Agricultural and financing Policy in India.

Q2) State the concept and importance of social infrastructure. [20]
OR

State the problem's and Importance of small scale industries in India.

03) Explain the characteristics of India'n labour market. [20]
OR

Critically examine the marginal productivity theory of wage's

04) Discuss the causes and effects of absenteeism of labour in India. [20]
OR

Explain the causes of industrial Disputes and their settlement machanism in
Inida.

PTO.



05) Write short notes on (any four)

a)
b)
c)
d)
e)
)

Role of Public sector.

Financial Reforms.

Education and social Infrustracture
Exit policy

Minimum and fair wage.

Social security

R R

[5104] Ext. - 16 2
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Total No. of Questions : 5]

P3401
5104] Ext. - 16

ML.A. (Part - I) (Annual Pattern)

ECONOMICS
Indian Economic Policy and Labour Economics
(TSt FaiaR)
de: 3 ara ] [ Tgor ToT ;100

gaar - 1) @d v @iEa.
2) ITFIHSIT ek Ty qUI T Folfaana.
3) 3w WPl T YPgg H@ad.
4) @FUATS! g FAS! T9T TlAHT TETA.

o7 1) S0 et thg @ ST AR 0T TAE .
feRan
HRATA et o foxia awor feovrg .

Ty 2) ATHTRNTS UTEAA Fiaemet Tehed-T d Hged 9.
feRan
WRATATA oY STFTTAT THEAT SAT(UT Wged TR,

97 3) AHATdrer 9 STeRrel aforest faere .
fepent

97 4) MRATdA ATiehi=an Tgel sRul o qRumHT= ==t .
ferent
WRATATA AT Teh SheTgrel 0T & o HISUaT=l IS0 T <hl.

[20]

[20]

[20]

[20]



797 5) S forgn (Svored = m) [20]
) WIS gETe it
7) fasfa gamon
%) Toreror enfor wmnires arenyw giaen
) frtoa e
3) foram o @ aaw
W) WIS EReT

® R R

[5104] Ext. - 16 4



Total No. of Questions : 5] SEAT No. :

P3402 [Total No. of Pages : 4
[5104] Ext. - 21

M.A. Part - 11
ECONOMICS
Macro Economics - I and 11

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Answer should be precised and to the point.

Q1) Evaluate the relation between disposable income and consumption expenditure.

[20]
OR
Critically examine classical approach of determination of output and
employment.
02) Explain the derivation of IS curve and LM curve. [20]
OR
Explain rational expectation model.
03) Explain the debates relating to the definition of money. [20]
OR
Critically examine the keynesian theory of demand for money.
04) Explain in detail the instruments of monetary policy. [20]

OR

Critically examine the loanable Fund theory of Interest.

PTO.



05) Write short notes (any four) [20]
a) Distinguish between GDP and GNP.
b) Balanced Budget multiplier
c) Liquidity trap
d) Measures of money supply
e) Cambridge cash balance Approach

f)  High powered money.

R R

[5104] Ext. - 21 2



Total No. of Questions : 5]

P3402
[5104] Ext. - 21

M.A. Part - 11
ECONOMICS
Macro Economics - I and 11
(2013 Pattern)
(TSt waTaR)
de: 3 ara ] [Tor 7o 100
geAr o~ 1)  qF 97 fard irga.
2) ITFIESIT STk TPTR GUT U7 GO,
3) 3w WP T YPHT HATAIA.
4) @Fylard] ges SAA] T9T TIAHT TETAL.

g7 1) @9 U o ST W ITHEer aeme Uieron <. [20]
Temam
3T & TR Fafeardiear s gEiehFT Stehteieh TRET .

g7 2) IS @ LM =shr=it it wog =, [20]
feRan
feraeht sruen gfaum o w0,
o7 3) Gvrean sareaEsstn faare e w5, [20]
feRen

97 4) TeAATIaaeR RO |18 Tfel TIg . [20]
TeRa
STEAT Al et frserare Siaeaes TReroT &,



797 5) efgerama dian forgn (wivreamdt =) [20]
31) GDP @ GNP wtitet vk

d)  HIE ST 0T
%) Ear A°eS?
g) UvTTeAT YRSl AiOH
3) b T frgs g
%) I%9 vl g4

® R R

[5104] Ext. - 21 4



Total No. of Questions : 5] SEAT No. :

P3403 [Total No. of Pages : 4
[5104]Ext. - 22

ML.A. Part - 11
ECONOMICS
Growth and Development I and II

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the Candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Answer should be precised and to the point.

Q1) Whatis less developed countries? Explain the characteristics of less developed
countries. [20]

OR

Critically examine harrod domar growth model.

02) Compare the Income inequality in developed and under developed. [20]
OR

What is urbanisation? State the problems of urbanisation.

03) Explain in detail the role of Industrilisation in economic development.  [20]
OR
What is monetary policy? Explain the objectives of the monetary policy.

04) Explainrole and function of International monetary fund. [20]

OR

Explain the role of government in the developmental processes.

PTO.



05) Write short notes (any four)

a)
b)
c)
d)
e)
)

Indicators of Growth

Cobb-douglas production function.

Causes of rural migration

Social Infrastructure and economic development
Inflation and growth

Self help groups

R R

[5104]Ext. - 22 2

[20]



Total No. of Questions : 5]

P3403

Fez: 3 ara]
gear:- 1)
2)
3)
4)

[S104]Ext. - 22
M.A. Part - 11
ECONOMICS
Growth and Development I and 11
(2013 Pattern)
(TSt FaiaR)
[Tepor oT: 100
qd Tv7 @islav sravaes ATg.
W AW T gegs AT,

97 1) Acufaensia <91 TEUTS h1dl ? STCUTIeh¥d qTTe JTSTRl TUY . [20]

fepent

e SR il gegt UfaaTe feehtenes ufieror .

Ty 2) famea ofur steifearsreia STdie Scael farswa=h ger-t oa. [20]

fepent

ITELIRTUT TEUTH T ? FTEISRIuTT=T |HET T,

97 3) anfder faermaTdter sitenfrehrentom= it wfoea a8 &. [20]

fepent

A TR SRUT TEUTS R ? A deh U=t 3feset T8 &,

97 4) SAAWEE A0t YRt Tfur e Tg . [20]

ferent

e wfshadier yeaT= et wog &



¥y 5) drseama dar forgt (wiorerd =) [20]
) g fdweh
q)  hid-STE IeTEd Hed
®) ATHIOT TAATAT HIOT
) wTATRTR UTE R SR onfie R
3) WTEETe ST gedt

W) &I HERAAl e

® R R

[5104]Ext. - 22 4



Total No. of Questions : 5] SEAT No. :
[Total No. of Pages : 4

P3404
[5104] Ext. - 23
M.A. (Part - II)
ECONOMICS
Modern Banking and Research Methodology
(2013 Pattern)
Time : 3 Hours| [Max. Marks : 100

Instructions to the Candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Answer should be precised and to the point.

Q1) Explain the functions of financial system. [20]

OR

Explain the changing trends in Indian banking sector since 1991.

Q2) State and explain the significance of Non - banking Financial Institutions in
India. [20]

OR

Explain the recent trends in exchange rate and its impact on Indian economy.

03) Whatis social research? Explain the objectives and limitations of social research.
[20]

OR
What is hypothesis? Explain the importance of hypothesis in research.

04) Explain the measures of central tendencies. [20]

OR

Discuss the importance and limitations of information systems in research.

PTO.



Q5) Write short notes (any four) [20]
a) Investment policy of a bank.
b) Features of Indian money market
c) Foreign Direct Investment
d) Case study
e) Testing of hypothesis

f)  Power point presentation

& & &

[5104] Ext. - 23 2



Total No. of Questions : 5]

P3404
[5104] Ext. - 23
M.A. (Part - II)
ECONOMICS
Modern Banking and Research Methodology
(2013 Pattern)
(TSt TUTaR)
de: 3 ara ] [Tgor 7O : 100
geqar:- 1) @d T97 HfFare 3i7ga.
2) ITFIHSIT ek TeATE GUI U7 FElfaara.
3) I AWl T YRHg HATFIA.
4) TeWlaId! g@ 3T T9T-TlAHT GgTal.

gy7 1) foxitar gurrefi=it & wog 4. [20]
Teram
1991 urga wRaTdter SfehT STl agerdt Taxil T8 .

97 2) ARATHA st foxiia TXere Wged 9T T8 . [20]
feman
Tl gudie siferendiar ugit @ w@Tan AR sTefeaaRdadie Uiund T .

97 3) AT E9NEM TgUTS h1d ? HTATTeR @oiierTe Sfead mfor water v o . [20)]
feman
TTEideh TEUTS hTY ? EYNEATA TEidehre Heged TIE .

97 4) et TRl AUk TIY . [20]
TeRan



gy 5) Argerma ar forgt (Sivrerd = m) [20]
3T) SRl TUTAAULEh SRUT
T) WA AorEeRE S
F) 92 U [AAUh
g) TS wwEw
3) TRIeRret el
W) UleR UTge TSy

& & &

[5104] Ext. - 23 4



Total No. of Questions : 5] SEAT No. :

P3405 [Total No. of Pages : 4
[5104] Ext. - 24

M.A. (Part - II)
ECONOMICS

Demography and Rural Development

(2013 Pattern)
Time : 3 Hours| [Max. Marks : 100

Instructions to the Candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Answer should be precised and to the point.

Q1) What is demography? Explain the relationship of demography with other
discipline. [20]

OR

Critically examine mathusian theory of population.

02) Explain the features of growth of population. [20]
OR

What is labourforce? Explain the trends of labour force. Participation in India.

03) Explain the features of 73" constitutional Amendment and it's impact on co-
operative sector in India. [20]

OR

Discuss the performance of Regional Rural Banks? Explain their problems.

04) Explain the nature of rural poverty in India. State the causes of rural poverty. [20]
OR

Comment on the performance and achievement of swarn jayanti gram swaraj
gar yojana.

PTO.



Q5) Write short notes on (any four) [20]
a) Small farmers Development Agencies.
b) Problem of inequality in rural India.
c) Micro finance Institutions in India.
d) Optimumum population theory.
e) Trends of sex ratio in India.

f)  Distribution of world population.

& & &

[5104] Ext. - 24 2



Total No. of Questions : 5]

P3405
[5104] Ext. - 24
ML.A. (Part - II)
ECONOMICS
Demography and Rural Development
(2013 Pattern)
(WSt FUTER)
da: 3 ara | [T 7Or: 100
gaqar ;- 1) @F g9 gigar.
2) ITIHSIT 3k TATH Ul T AT
3) 3 AWl T FRgg HAIAq.
4) TIEeET BT STTHET  FTET.
5) @eYIarst e U IYT TlFAHT UgTal.

g7 1) ATRETAT I U hid ? ChEEAT ITETET $a 31SATH ITRATIH STHAAT el
Y . [20]
feran
UTeAT=aT AhEEdl faegi-ara drerTedeh UOeTuT .

97 2) hRAEAT Jediet AT Tuve . [20]
TeRan
I YIAST FEUTS h1d ? WRATATA 3H YRaSATedT TgHRT Iadl T8 &,

TF7 3) 13 = ge gEEde ARl SATfUT e HRATSAT HEehi SETeicet THTE TUE .
[20]
feran
YT T3TeR UTHIUT Fehiear wIEl o<l w0 ? d ATeaT THET T &,

97 4) ARATdE ATHUT SIRGATS TaET TIL 0. o ATHOT rivgaret wrot drm. [20]

TRt
TA0T AT UTH ISR IS hIATR & TG ATaR. WIS Rl

3



v 5) Argerma At forgt. (Sivrerd | m) [20]
) g Jaerdt fereRra T,

¥) UTHUT YRATATA STEUTa THET,
%) WRArdie gen fawia e

3) uatw SreREeET fae.

3) WRATdiel B -J&W THT0T St

W) STTae eArRaEaE! i,

& & &
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Total No. of Questions : 5] SEAT No. :

P3406 [Total No. of Pages : 4
[5104] Ext. - 25

M.A. (Part - II)
ECONOMICS

World Economy and Economics of Environment

(2013 Pattern)
Time : 3 Hours| [Max. Marks : 100
Instructions to the Candidates:
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

Q1) Explain the role of multi - National companies in World economic development.
[20]
OR

State the objectives and role of Association of south East Asian Nations.

02) Explain the effects of growth reform's in china on world trade. [20]
OR

Explain the impact of Euro zone crisis on Indian Economy.

03) Explain the trend's in environmental policy of India since 1991. [20]
OR

Explain the causes of environment pollution.
04) Explain the role of environment education in controling the water pollution.[20]

OR

Explain the causes and remedies of forest depletion in India.

PTO.



Q5) Write short notes on (any four) [20]
a) Eastern Europe a transition economy.
b) Role of SAARC.
c) Features of Global Economy.
d) Bio-diversity
e) Social forestry

f)  Environmental Audit.

& & &

[5104] Ext. - 25 2



Total No. of Questions : 5]

P3406
[5104] Ext. - 25
M.A. (Part - II)
ECONOMICS
World Economy and Economics of Environment
(2013 Pattern)
(TSt TUTaR)
de: 3 ara ] [Tgor 7O : 100
gaqar ;- 1) @F g9 gigar.
2) ITFIHSIT ek TeATE GUI U7 FElfaara.
3) 3 AWl T Rgg HATAq.
4) @FUIATST g@ FUST T9T UlAHT TFTA.

Ty7 1) St afies foenrama ag wEia wuvareh i g &, [20]
TeRan

Ty 2) <A ALl gedi GURUTAT TR ereh SATIRIEIE URUTH T8 . [20]
TeRan
FUTUT GATATA ATRUIAT WA NI qA THTT TIY .

g7 3) 1991 urga=an WRdE gateruT SR e Tl T8 . [20]
Teman
TATERUT TGEATe Il T .
77 4) S wgua Frase watawe Freomsh gfte T w5 [20]
Teman

WRATATA ST gTET=t S0l & IUT T 0.



gy 5) drgerara s forgr (Siad = w) [20]
) g U FeheA Ffer srefeawen

=) @k =@t (SAARC) yfwsr.
®) ARTieeR stefeaworen afvrs.
g) g - fafaemr.

3) HMTRTS TR,

W) UATERT T gieT.

& & &
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Total No. of Questions : 5] SEAT No. :

P3407 [Total No. of Pages : 6
[5104] Ext. - 26

ML.A. Part - Il (Annual Pattern)
ECONOMICS

Economics of Finance and Econometrics

(2013 Pattern)

Time : 3 Hours| [Max. Marks : 100
Instructions to the Candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answers should be precise and to the point.

4) Draw neat diagrams wherever necessary.

5) Use of non-scientific calculator is allowed.

Q1) Answer the following questions. (Any one) [20]

a) Explain the role interest rates, present and future value of income in
financial markets.

b) What is future market? Explain the role of hedgers and arbitrageurs in

future markets.
02) Answer the following questions. (Any one) [20]
a) State the differences between Depository institutions and non-depository
institutions.
b) Explain the concept of portfolio and the role of Capital Asset Pricing
Model.
03) Answer the following questions. (Any one) [20]

a) Define the following terms.
i)  Standard Error

ii) R2and R®

iii) Partial R?

iv) Test of stability

v) Degrees of freedom
vi) Analysis of variance

PTO.



b) The following table shows the total money supply for the economy as a
whole and the general price level over the twelve year period 1991-2002.

i)  Construct a scatter diagram.

ii) Determine the values of regression coeff b, and b, by using the
least square method.

i) Compute the total variation, explained variation and unexplained

variation.

iv) Compute the coeff of determination.

Year Money Supply (Rs. In Price level (general
Crores) X Price Index) Y
1991 100 115
92 110 120
93 115 110
94 110 120
95 120 125
96 120 127
97 130 133
98 135 140
99 140 145
2000 145 150
2001 150 155
2002 115 160
04) Answer the following question. (Any one) [20]

a)  Whatis Econometrics? Elucidate the scope of econometrics with suitable

examples.

b) The president of a large automobile company believes that the sale
generated by the company sales people depend not only on the years of
experience but also on the general intelligence level of the sales person as
measured by his or her 1Q. To test his belief he takes a random sample
of 12 sales person across the country and determines their number of
years with the company and their respective 1Qs. For each sales person
following table represents the values of the following variables.

Y = Sales volume in thousands of rs. during a year.
X1 = IQ of the sales person
X2 = number of years in sales with the company.

[5104] Ext. - 26



Sales Y X1 X2
Person

1 100 120 10
2 85 110 10
3 65 106 5
4 95 120

S 107 115 12
6 92 108 3
7 102 110 12
8 30 115 7
9 70 103 9
10 52 100 4
11 90 111 8
12 100 118 8

Calculate the standard error of the estimate.
Calculate th coeff of multiple determinations.

Compute the standard error of the parameters estimates and conduct a
test of significance at the five per cent level of significance.

05) Answer the following questions. (any four) [20]
a) Define derivatives and explain the types of'it.
b) What are swaps? Explain the mechanics and types of swaps.
c) Write a note on financial futures and commodity futures
d) Write in detail a note on Errors in hypothesis testing
e) What is least square method?
f)  State the difference between statistics and econometrics.

& & &
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Total No. of Questions : 5]

P3407
[5104] Ext. - 26

ML.A. Part - Il (Annual Pattern)
ECONOMICS
Economics of Finance and Econometrics
(2013 Pattern)
(WSt wuTER)
de: 3 ara ] [Tzor ToT: 100
AT ;- 1) &d 397 q@isal.
2) IwaIHSIeT 3k Qul T FIIEATA.
3) 3T gEgg ST T SIErEia.
4) ITIVEE A9 HTHET FHIET.

gy 1) Wrefter ggarer Ia¥ forgt (SIoradl ueh) [20]
) A, AT WA I TAHH oo are T TIY .
) o SR TguTs s ? fgen st snfor wefrane foham geaiatensned A
forshar o AT TiER Wit SR gfteer e w0

g7 2) @TeAter T3l 3a? foigt (SRiuragt ueR) [20]
31) Tashames dwen a il aner FwT ITdier Wieh 9.
) IEATAST TeheUAT AT Wigaet Hut fhaauumet afoaTe e TUg &,

v 3) @retel IeATel I ToTeT (SRivTaE uew) [20]
) Wreler Ugrean SIET o,
i) wwTvTa <@
ii) R2and R?
i) Partial R?
iv) Teoma=ht adten
V) T WNTHY

vi) Analysis of variance



q) WA qeamed 12 a9 ot 1991 9 2002 wiaen |qul steeaeEd=n

i)  Scatter diagram.

ii)  Determine the values of regression coeff b, and b, by using the
least square method.

iii) Compute the total variation, explained variation and unexplained
variation.

iv) Compute the coeff of determination.

Year Money Supply (Rs. In Price level (general
Crores) X Price Index) Y
1991 100 115
92 110 120
93 115 110
94 110 120
95 120 125
96 120 127
97 130 133
98 135 140
99 140 145
2000 145 150
2001 150 155
2002 115 160
57 4) @refier ggamet 3w forgr (vt ueh) [20]

)  NUATHAT TEUTS 1T ? FATA IETE0T ¢ HAATHeATE SATHT TfEal TIE .
d) TETEN HUATAIA TEqet frshl € T ShueaT Trshl ShiuTr=aT Sa<hledT ShidTedT
TR SIWATIRE AT T R T ST eaT TAATIROT FeHwaR

T TG STEA T8 TehT SIS U1 LA 0 g § AU
UTETUATETE! T GUERTA 12 STurre Ueh AHAT THage STiiur eaiear ST
T 9 FEEATh HIUAT AThRSANT BT heAl. & AThSAN WTATA qeredra

faeft oz
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Y = U auidiel TR Tohl (F9Rme)

X1 = ggea,

X2 = whmTal NS (TUHE)
Sales Y X1 X2
Person
1 100 120 10
2 85 110 10
3 65 106 5
4 95 120
5 107 115 12
6 92 108 8
7 102 110 12
8 80 115 7
9 70 103 9
10 52 100 4
11 90 111 8
12 100 118 8

TTAEA el dTsl hial.

The standard error of the estimate.

The coeff of multiple determinations.

The standard errors of the parameters estimates and conduct a test of
significance at the five per cent level of significance.

97 5) @reftel gearel 3w g (Furad =) [20]
A) AZA = SATEAT AT ATV AT THR FAL .
) T stgetegaTar du forer.
%) foria wieed anfor aq wies arer G forer.
¥) TEIdaeh qUTEUIAIeT geht ATer 2y forgt.
3) o ot uga o e ?
) STl 9 HEATIE AT W{eh |

R R
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